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1. Solve for x: 92t — (21—7)"*“2
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2. Graph the equation y = (%)" +2

o faal ~X
y=(z)* -3¢ =5 +7
T y> | o =i g Y .
\ .' x |y % | ¥
[ 3 | /2 2 | 2%z
[ s | e _2 174
\ -\ | Y3 | | 2%
\ ! o [1 _olig
\ ‘ v RGN i 1
VL B WE S A
! 3 |+ ~% | 2/
[
o
—— X
3. Find the base for the function y = 4" that contains the point ( _Tz ; % ): -
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4. How many more times powerful is an earthquake measuring 8.3 on the Richter Scale than one that measures 6.4?
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5. Radioactive argon-39 has a half-life of 4 minutes. If we initially have 84 grams of argon-39, how much remains

after 23 minutes? 23/4
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6. Write the logarithmic equation logs 81 =4 , in exponential form.
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7. Write the exponential equation 10 2 =0.01 , in logarithmic form.
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8. Evaluate the function f{x) =log 144 without using a calculator.
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9. Givenlog7x=-2, find the value of x without using a calculator.
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10. Determine the domain of f{x) = log (2-x X

20—l ] = WA D>
P R SR ASVER S P |

X >0 i

-7 -1 0
11. Determine the inverse of the function f(x) =2 + log (5x-3) [ 1%
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12. Write log 0.36 in terms of log 2 and log 3. R 7 =10 5*
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13. Determine the exact value of log> =
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